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Start with the blue problems and then move
onto the white problems

Show how you know by using a number line to support
your explanation.

Spot the mistake: True or False? True or False?
-80,-40,10,50 When | count backwards ;fst.:?ep:::::;ni—rlt
What is wrong with this i : '

: in 50s from 10 | will say The new temperature is -
sequence of numbers? 200 52



A scientist measures the depth of some objects below the surface of the sea.
She records her measuraements using negative numbers.

Object Depth
Coral reef —2 m
Shipwreck —171T m

Pirate treasure four times as deep as the coral reef
Sleaping shark 2 metres abowve the shipwreck

Which object is deepest? Explain your choice.
Is the sleeping shark deeper than the pirate treasure? Explain your reasoning.

A seagull is hovering 1 m above the surface of the sea. How far apart are the
ssagull and the coral reef?

A scientist meaasured the temperature each day for one week at OS0O0.

On Sunday the temperature was 1-6°C.

O Monday the temperature had fallen by 35C.

O Tuesday the temperature had fallemn by 2-1°C.
On Wednesday the temperature had risen by 1-65C.
On Thursday the temperature had risen by 4-29C.
On Friday the temperature had fallen by O-9°C.

On Saturday the temperature had risen by 0-2°C.

What was the temperature on Saturday?



Let's Think...

Zain is counting forwards in threes.
He starts at -17. Does he say 27
Explain how you know.

Toby says that the difference between -3 and 4 is six.
This is how he counted:

‘negative two, negative one, one, two, three, four”
Toby is wrong. Where did he go wrong in his counting?



LO: To choose appropriate strategies to solve calculations

Which question is harder/easier and why?

231,515 + 199= 231,515 + 300=



Add one or two to a multiple of 50 or a
hundred. Then remember to subtract it

again after finiding your answer.

Step 1: 49 + 376-= Step 1: 298 + 625-=
Step 2: 50 + 376= 426 Step 2: 300 + 625= 925
Step 3: 426 - 1= 425 Step 3: 925 - 2= 923



Which question is harder/easier

and why?

145 + 146 - 239 + 137




Near Doubles

Recognise when numbers are close to
double the other number in the
calculation:

Example 1 Example 2
135+ 137= 351+353=
35+35=70 350+350=700
100+100=200 700+4=704

270+2=272



Which question is harder/easier

and why?

23567 + 4b4 5625+ 1,654




Number Lines
When adding units of time:

Example 1
14:53+ 26

mins

14:53 15:00 15:19



Choose 2 numbers to write a number sentence for.

1. That you would use a number line to solve
2. One that you would use a near double or adjustment
3. One that you would use a column method
4. Explain why you have chosen your method

5909

101.9

Challenge: When you have done 5 calculations, check
them with a calculator. Now do two calculations where you
add three numbers and then come and get the challenge

299,997
7,564, 356



Explain

Bill wants to use the strategies he has learned today
with the following problem: The train leaves

Winchester at 12:35 and arrives Iin Reading at
13.07. How long Is the journey? What is the same

about the strategy he can use? What is different?
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‘The number in each circle is the sum of three numbers in the row below it. Fill in the missing
numbers.”

‘The sum of each row, each column and each of the two long diagonals is 13.6.
Fill in the missing numbers.’
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What's the same? What's different?

T am thinking of two rods that are equivalent to Blue. Tam thinking of hwo rods that together are equivalent to
One of them is red, What is theather one?” bilue., What are they?
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Task
With a partner, sortdifferent pairs of rods into each category

How do yvou know you have found all the solutions?

SuUm = oramoge —

SUm = orange
and
difference = red

difference = red

I know I have found all the solutions to the sum equalling
orange because...

I know I have found all the solutions to the sum equalling
orange and the difference between red because...

I know I have found all the solutions to the difference
being red because. ..



Extension

Two rods have a sum equal to the length of orange,

and one is two-thirds the fength of the other. What are
they? -
I

Two rods have a sum equal to the length of blue, and

one is three-and-a-half times as long as the other.
What are they?
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Let's discuss each model together. Can we decide which is
wrong/ correct and why.

Child A:

Year 6 have earnt 200 stars; the stars

are either gold or silver. They have 30
maore gold stars than silver, How many

are gold?’



Let's discuss each model together. Can we decide which is

wrong/ correct and why.

Year & have earnt 200 stars; the stars
are either gold or silver. They have 30
more gold stars than silver. How many

are gold?




Let's discuss each model together. Can we decide which is
wrong/ correct and why.

_hild C

Year 6 have earnt 204 stars; the stars

are either gold or sjlver) They have 30
more gold stars thansilver, How many

are gold?
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Let's discuss each model together. Can we decide which is
wrong/ correct and why.

Child E:

Year & have mmtiﬂ{l stars; the stars

are either gold or ilf'p’E*r JThey have 30
maore gold stars tharisilver, How many

are gold?
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__ silver ‘ jl are gold?” N

___ silver ‘

— silver ‘ J




il A Child E:

z of 200 = 100 JE— R “eore dpwit What do we think
SENSE SO = '. S hoveencunk  of the strategies
30 atare are aold N ——  Lndformation now™
Chilg S o - ’ - oled SLLVER A 2 olwve Lt ;
1= |_. . a7 e ow
- . ) 1. 'Child D has used the best strategy
I 1= e ¥ because they are the only one to get
' | - ) the right answer.”
- . 2. ‘Child A is the only one who has used
N an incorrect approach.”
.;'|:'| d T N R 3., ‘Iif Child B hadn't given up they would
hep T——1 17 have got the right answer.’
O — A0 = 17O 4. The bar models by Child C and Child E
170 : 2 = A5 show the same information.”
S 5. 'Child B and Child D have used the
gold | =iwe Faenms same strategy.”
| Be - - &, ‘Child O is the only one who has shown
| 201 7o 3 se gald the difference between the number of
P gold stars and the number of silver

stars.”




Task
With a partner, talk through, discuss and
solve the problems below:

1.) Represent the problem with Cuisenaire
2.) Draw a bar model

3.) Write the calculations

4-} EH f'-.-re. A dind Eflan firvs £70 b rafad Anneg fas £ 108 move
tharn Elen. Haw mwch mmaney do they sach have
5.) Check :

ol bz ] edith Culsenalre

Crawy Sar P oede
Coaumikene

Chimsz b

Sheesin 15 29 Ve poLan fer r.".af'q fewben. The sum of
rhieie chegees B FF vedes, Moke ald B sach persos 7

P o] with T uleas realins

e Her Mol

Calouad o

[ P8



LO! Tq idegntity two Linkhowins

LSCWC

Example P

Year 6 have earnt 3() stars; the stars

are either gold or silver. They have 2
maore gold stars than silver. How many

are gold?’14+2 =16 gold stars

i i i i i i i i
Year 6 have earntd(Q stars; the stars

are either gold or silver. They have 10

more gold stars than silver. How many
are gold 7

Year 6 have earnt B stars; the stars

are either gold or silver. They have &

more gold stars than silver. How many
are gold?




' I ! Structure 4
-;E::.-u;:riih dif ferent 'E';;'"::Fﬂ i'-.-'i bap Strdeture 3 | - o I?-i_r-_ing addifive and
T:nr-ts. m-:dgis— dditive mul‘hpll-::.-crl'iﬁ.-'e.
— ] &
BEE s [w R R R P
1 i i i ! 1 |

i | | | | | | | | | Hmlv could Wwe golvg this?

— The sum of h"l.-‘-l':!:hﬂ LJ.F'FI'.I-I'.'.-'-E'J'S is 20, One —

number is four times the other number.
What are the hwo numbers?

Letiere nre e Using and holw d wel

3 E

hat cluels ane there| in fhe langlagg?




| [ I I I | | | | | I
Tructure 1 Stpuct .

dditive with dif ferent _
Comparafive bar

T::r-ts. models- Additive

| | I I | | | |
r'-l.-.3|

Structure 4
- Combining addifive and
multiplicative

|
o
B R R P
HI::I+J coluld }ve golvg this?
|

— The sum of bwo numbers is 20, One —
numiber is four times the other number.
What are the two numbers?

| | | | | | | | |
| | | | | | | | |

T know that one number {a) is four times the other
number (b).”

| | | | | | | | | | |
Talso know that the two numbers sum to twenty.” |

I
Strdctu




[ I [ [
Tructure 1

dditive with dif ferent

TEPtE.

IE}
0

Struct 2
Comparafive bar
meodels- Additive

| T T T T T T
Structure 4

- Combining addifive and
muftiplicative

| | |
Etrﬂ.l-o:tur'-l.-. 3 |

|
o

we golvg this?

HI:I+I could

“The surm of two nambers is 20. One

number is four times the other number.
What are the two numbers?’

Tknow that one number {a) is four times the other
number (b))’

Talso know that the two numbers sum to twenity.”

Whele=20




I I I I I I | | | | |
re 3 | Structure 4

Fructure 1
dditive with different Structurk 3 - Capbining additive| and
Comparafive bar [

Fs. i multiplicative
TDF = ‘ model=- Additive I P I
: i _ o
| | R R R P

I I I I H:=+J could Wwe dolvd this?

I
Structu

| - -

| The sum of tweo numbers is 48, -i}."IJE number is one-fifth -
of the other number. What aretfie two numbers?

retlire e e Using and hok dd we

s arfe therg in fthe lhngliagg?




| | |
1‘r-u-:1'-|.|

Additive *rh dif ferent

1nrts ‘

I I I I !
Eirﬂ.Lciur': 3 |

Struct 2
Comparafive bar
models- Additive

T T T I
Structure 4

Combining addifive and
muftiplicative

L)

HI::I+J could i.wa g

olvg this?

L The surm of two numbers is 48, One number is one-fifth
of the other number. What are the two numbers?

+al thede 1« AR

wmber pne lis 145 of numbdgdr two.

l'.JIII-'-

m




| | | | | | | | | |
tructure 1 <% | . Strdcture 3 | Structure 4

dditive with dif ferent - Combining additive and
multiplicative
O

HEI+I could Wwe golvg this?

L The sum of two numbers ['ifti_HT e number is one-fifth |-
of the other number. Whatarethe two numbers?

= | Pqu:l:g These chaual o




1r'u-:1'-|.| o Structure 4
dditive Th dif ferent ?:ml Jp:.::lﬂu e bar Combining addifive and
T muftiplicative
Tjr = ‘ models- Additive | P
O )

R R R P
H Id ve dolvd this?
| | | | | | | | | | 51%‘ CaLl I}NE- 0 IVE 3

| Bill eart £60 doing odd- J-:::t.;vﬂ ::-ne weekend, He earnt
three times as much on Satloday -i::l.': he did on Sunday. |
How muck did Bill earn each day?”

ctiire are Wwe deing and how do we

kn
What kluels arle therg| in fhe langliagge?




Tructure 1
dditive with dif

Struct

TDFtS.

models-

2

Comparafive bar

dditive

|
Strictu

re 3

T T T
Structure 4

o

muftiplicative

bining addifive and

O

uld

WE S

o hwg

this?

‘Benween them, Josie and Ellie swarm 1.25 km during
. . - . ) -
swirmming training. Josie swarm " of the distarnce that

Elilie sweam. How far did each of them swim ™

Lt

Tad < 0=

] hopy da

LA

S QA

e there

angl

lagg ?




Task Are you being asked to compare amounts

Choose a problem. Use the layout on (then find the dif ference) or are you being
the left in your books to solve: asked to compare multiples of the same
Two numbers have a total of 360. One am ount ?
is three times the other. What are the
two numbers?”

“Two numbers have a difference of 5.6
and a sum of 8. What are the two
numbers?®

‘My dad and | have a combined mass
of 96 kg. My dad’s mass is three times
as much as my mass. How much is
each of our masses?’

‘It costs £2.65 to buy a watermelon and

a pineapple. The pineapple costs 85 p Calculations
less than the watermelon. What is the

cost of each?

My garden has an area of 78 m-. The
patio rakes up one-third of the area of
the garden. The restis grass. What is
the area of the grass?’

‘Work out the values of a and b, if

a+ b= 1,000 and a—b=100

[ et wa th Ciiee e

Craee Bar W oeded

Chack



Challenge

Mrork owtr the valuwe of each angle im this triaongle.”

The ages ofAnna, Bella and Cara toral
T8 vwears. Anna is Do vedrs Woulngaer
thanrn Bella. Bella is two yvears younrrg er
tharn Cara.”

- Howr aold is each of therm &7

= Howwr rrrany ywedars is it wntill their oges
tortal So8

Together Jess, Safa and Army rar
25 krm betnweery thhem. Jess ram three

tirrres as far as Army and 3 kor furthher
thharnr Safa. How Ffaor did _Jess run®™




LO: To identify sum and difference problems
| 1 | | | | | | | |
Etr-ﬁ-ciu

tructure 1
dditive with dif ferent ‘ Struc _ 3
Comparafive Dar
o

Tjrtg- models- Additive
o
R R R P
T T T T T Holv cduld ve dolvd this

‘q pears and 5 lemons cost £3.35.
4 pears and 2 lemons cost £2.30.
How much does one pear cost?

How much does one lemon cost?’

| | | | | | | | |
re 3 | Structure 4

- Combining additivel and
multiplicative

i trugture afe wie uging and lhow do we

ues|are| Thgre in Thle lahguqge™




! | | | | | | | | | |
Fructure 1

! [
-Eirﬁciuﬁg 3 |
dditive with dif ferent ‘ Struct =

TDFtS.

T T T T T

Structure 4

. e b pultipicative pr } Combining addifive and
omparafive bar i R - !

= T o4 ¥ muftiplicative

model=s- Additive F dditjon F

- o

I | HEI+J could iﬂe. dolvg this?

‘4 pears and 5 lemons cost £3.35.

4 pears and 2 lemons cost £2.30.
How much does one pear cost?

How much does one lemon cost?’

.




déddbocooc

dééé—<

2
3.35

2.30




=T R TUHME *F
Combining additive and
muftiplicative

O

HI:I+J could Wwe gsolvd this?

- Strdcture 3 |
Multipicative pr

?TI"U-I:TII.I 1

daitive with di}fe.r'en‘r =1 :
T:'r'tg- ‘ ‘ Comparafive bar

model=s- Additive
o

BN (]

‘q pears and 5 lemons cost £3.35.
4 pears and 2 lemons cost £2.30.
How much does one pear cost?

How much does one lemon cost?’
|

i

£3.35

e ey T R R ]




1 1 ] 1 1 1 1 1 1 1
Tructu 1 Strdcture 3 | Structure 4
iddiﬁwa ith dif ferent 'g'h I E:- bicati B Combining addifive and
omparafive bar multiplicative

models- Additive |
i - _*:'
|

i—l | | HI:I+J cojuld }ve. s'nf'-.r# this?

‘4 pears and 5 lemons cost £3.35.
4 pears and 2 lemons cost £2.30.
How much does one pear cost?

Howw much does one lemon cost?’
335 | | | | | |

Tril it " R X R




I'Im-:*l':u 1I
Additive with dif

ferent

1ﬂrts. ‘

o

Struct

=2

Lomparafive bar
dditive

model=

& [wl]

Eirﬂlciur'-ll. 3 | '

' Structure 4
- Compbining additfive and

multiplicative

|
o

HI::I+I could Wwe dolvg this?

!3.35”3.;5 E

3-35 . ‘q pears and 5 lemons cost £3.35.
=3 4 pears-and 2 lemons cost £2.320.
1.05 1.05 How rﬂ,;..la:h ‘does one pear cost?
How much does one lemon cost?
335 |
&

£2

30

1

FOLFD=1.¢0




?‘Im:*hu 1

dditive with :Ii#fe.r'en‘r

T:lr'ts. ‘ ‘

O

&

‘ Sfrruct

model=-

I
=

Comparafive bar

dditive

s

multiplicative

a

Strcture 3 | ' Structure 4
- Compbining additive and

e

'Ol

I!:\.35i”3.3i5 E

HI:I+J could Wwe stnf'-.re. this?

*

‘4 pears and 5 leiohs cost £3.35.

e

ol LY
(i :'i'l :'i

I=]

1.05

4 pears and 2 lermons cost £2.30.
How much does one pear cost?

3}

35

How much does one lemon cost?’
|

-
ol e

£ 2130 " L
& ¥ = lr:
“ () 0. F0
P I3I0LO.MD=1.60




1 1
i‘tm-:*l'u 1

Additive with o

}farenT

Tﬂrts. ‘

|
Struet

2

Comparatlive bar

model=-

dditive

Eirﬂlciur'-ll. = |

Structure 4

- Combining addifive and
multiplicative

_ o

The scales show the masses of seme large and small bogs of dog food.

e | [

-

Ho

w could|we |solvie tHis?

=]
Cm g

[y = l'a-;'l-

I S0 g

o |

What is the mass of each of the twa different sized bogs”

WH

ich lstrdctufre dre we uk

kn g

W

VWH

at dluecs are ThEere (in Th




Task

& cheop s b frad.

} e DS & g ol ) S Dl e
Bl pi-lcl:rls 25

Fdcgen bovs E atplcs atd 1 hansna.
STHpEEAR PORR

Hose s ich doe-s one b naa ra cool™

_} Zingi hes @ orod 15 e long.

She bresss 17 inko o ploocs.

ky
L

ne plece 12 1 cube laonger than the aother.

o rmany cub=s are in esoh piece?

cubes

0

lF =

.
o
]

LY

and

3 } Lm haa Toa blecks wimich 576 all the aama,
Elm Eeslano== them cn lhe scsla silh teo saigk=

I:_,‘-A'-"

frakcubals e ves bl of ane Ll

A sheop ol S recd o oes b el Sos s

+.)

Tlaerzan ol o nodekank arad 8 pee
Hez pakd £1 A0

FHE muEgll m reAbosk sl 2 pEne
She poks LHAS

Cerbc ke thes zost ol a nodchaok



Extension

Two mugs of hot chocolate and a sandwich
costs £6.80.

Two sandwiches and a mug of hot chocolate
costs £7.15,

* How much does a sandwich cost?
» How much does a mug of hot chocolate
cost?

The diagram shows the total cost of the items
in each row and column. Fill in the two missing

COsls.




A cup of tea and a biscuit costs £1.30.
A cup of tea costs 60p more than a P

biscuit. & s
How much does a biscuit cost? —

How much does a
cup of coffee cosi?

|
| |
I b , £1.30 + 2 = 65p ,
;L tea ] &5p Tea = £1.05 l
: ’T biscuit 65p i: 60p Biscuit = 65p :
| |
e e e e e e e e e e e e e e e e e e e e e e e = — — — 1
e e — — — — — — — — —— — — — — —
: - A cup of coffee and an apple costs £1.80.
! 7; The cup of coffee costs three times as
|
, £ Much as the apple.
I N
I
I




The sum of four whole numibers is 23.

The difference between the smallest and the largest
number is &.

All four numbers are differaent.

What could the four numbers be?
Find all the possible answers to this question.

Explain how you know that this statement is comrect:

|

X

Fi

1

A ‘The largest number must be more than 7'
i

M

L D D D e e e e e e e e e e e e e e e e ==
: E The sum of tour numibors is 25, All tour numibers arc dittercnt.

1 ¥ The dillerence bebween the smallesl and The larges] numiber is 4.

1 T Al four numbers are mulliples of 0.5

: t What could the four numbers be?

| Find all the possible answers 1o this questfion.

I One answer:. 4, 5.5, 7.5, 8
U




LO:

To solve addition and subtraction problems in context 5 :

INFREN

. Choose 2 numbers to make a subtraction sentence from

(Check that you are subtracting from the larger number)
Estimate what you expect your answer to be

. Calculate

Check by using the inverse operation

540,000| [297.865 |

116,506 |

5,709

‘\ 63,289 | 764 |




Write a word problem on lined paper

SWap with a partner Challenge \
Draw a bar model for the problem in your exercise book Can you
Solve the subtraction calculation create two-

Check with addition step probleny

=B What is the
3,871 difference...?
How much
Class Member 17,029 more...?
19.515 How much
less...?
21,001
2010
1.Liam makes £4 567 selling INn March and £3.871 In
April. How much more did she make in March?
2 _Kiana eats 3,096 N 2018 and 2,871 in 2017. What

IS the difference in the two amounts?



Amy, Zak and Indi collect pennies.
Their amounts are shown in the diagram.

Complete the missing values.

Amy 1.000

Zak

Indi 343

\_.Y_J

Complete the sentences.

pennies than Amy.
more pennies than Indi.
pennies than Indi.

pennies altogether.

* Star Challenge
How much money do they have altogether in pounds

and pence?




LO: To solve decimal subtraction problems in context 6 .

On whiteboards. ..
Draw me a bar model to represent this problem

and the associated empty box number sentences.

The shop keeper has 15.78 metres of ribbon. She
sells 8.4 metres - how many metres does she
have left?



Can you spot this child's error”? EXxplain
where they have gone wrong to your
partner.

15.78 - 8.4 =




Remind me how we can solve this
calculation:

8.002 -5.99 =



Choose 2 numbers to make a subtraction number

sentence.
Write the number sentence.
Calculate and then check using the inverse

13.89 124 .14
S5.67
3.7

3.234 0.09 8.4

VWhen you have done 6 successfully
collect a problem solving sheet from the

front of the class.



Thinking Deeply 1
EWrite the number sentence out and find the missing number

5746 —[_]=289
101.34= [ ]+56.07

3. [J= s67- 342.25
4.

1345- [ ]= 582— ]

Thinking Deeply 2
Fill in the missing numbers:

o 1L Jl [ |
L IR L T[]

BN O N O




Fill in the missing digits in this calculation:

[ |8] |+ 3] |5=1052

e e e e e e e e e e e e e e e e e o o EE e EE EE e o EE o S
f ™ = = == e e e e e e e e e e e e e e e e e e = = = = —
] Write a missing digits addition gquestion. Requirements:

: i - The calculation is a 3-digit number plus a 3-digit number.

T - At least 3 of the digits are hidden. The sum is shown.

1 E =  Your Queshon can e answered 1in more than one way.

: B Example: IB + |3 = 544

|

Possible answers: 181+363=544, 2814+263=544, 381+ 163=544



Fill in The missing digits in this calculation:

6| |2-| |3] |=243

|
1 E Complete these missing digit questions. I
1 X Which question did yvou find the maost difficulte Explain your choice. [
1~ [
1 | Question A: Question B: 1
I A i
13l dz-1L s l=183| |8] |9-| |2| | =237]|,
L 1

4

Complete the subtraction calculation using every digit 0-9.
Position the digits O and 8 as shown:

(eIl -

==
rDquEm r
Il



LO: To identify common factors 8 i

What do we know about this number sentence?

5x0=

Can we show it with cuisenaire? ‘



What about 5x5="

What is the same/ different about this and 5x07?

Show me 5x5 with cuisenaire:




5y 5= 'S repeated/

5 replicated 5 times'
| | I N
2X1= '5 repeated/ replicated 1
o time'
]
ox0=

'S repeated/

) replicated O times'



Can you show the relationship between
these numbers and 16 are there any
that are difficult to do this for?

€
©,
©
@ ©,

Use number link boards to support




VWho can now show me with your
cuisenaire tracks, why 7 and 3 are
not factors of 16




Use the rods to find the factors of
18




-
3
%E

:
E
E
E
5




Factors- A number that Multiples- The

divides exactly into another numbers in a specific
number e.g. 6x3=18 18 times table. e,qg, 5,
divided by 6=3. 18 divided by 10, 15, 20 etc...

3=6. Multiples of 5




Investigate the following statements

The larger the number

the more factors it
will have.

Even numbers have

more factors than

: odd numbers
Start by writing what you think you

will find out and why.

Investigate systematically to see if you are correct

T think that... because...



number factors number of factors




1 a investiigatle pri

Bar

Modelling;

your

I A crate contains 3 identical metal
balls.

The mass of the crate and the balls
is 35 kg.

Two more identical balls are added
to the crate.

The mass of the crate and balls Is
now U7 kg.

What is the mass of the crate?

35 kg

| Lucy has some bottles.

- There are 4 times as manvy clear

bottles as green ohes.
| Lucy has 70 bottles in total.

. How many more clear bottles than

green bottles does Lucy have?

- 70







A prime number:
Is a number that is divisible by only itself

and the number 1.

2 is the first prime number and the only
even prime number



https://www.youtube.com/watch?v=cRz4hW9SPPc

3 17 23
37 43 29 67

79 89

PRIME NUMBERS




LO: Teo use Eratosthenes Sieve to find prime numbers to 100

Find all the prime numbers by colouring all multiples of 2, 3. 5 and 7. You need

to start from the second multiple and you also need to colour the number 1

Why do you think this is? Why do you not need to worry about the multiples of
4, 6, 8 and 9?7 Start with the two times table. You should then be left with all

the prime numbers up to 100 uncoloured. This is Eratosthenes Sievel

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

2r

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

rr7

/78

79

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

95

96

97

o8

99

100

https://www.youtube.com/watch?v=V08g_|kKj6Q




If a prime number is a number only divisble by
itself and one, what is a prime factor?

Isit... Or...
A factor of a number A prime number
only divisible by itself that is odd...

and one? @




How do we know w
have found our
Prime Factors?

Therefore...

2x2ex3=12



Can anybody think of a
different factor tree for 12?



. Choose a number from below to create a
factorisation tree and then write down
the prime factors.

2. See if you can factorise the number
in a different way.

3. When you have done a 2 digit and a 3 digit number

see if you can explain how you work out what
the prime factors of a number are.

20 48 35 120 512



Deeper Thinking

The number 24 has eight factors. (1, 2, 3, 4, 6, 8, 12 and 24)
Write another number, less than 50, that has exactly eight
factors and list them.

Explain your choice...



